

College of Education for pure Science

Department of physics.....

 $\underline{Morning}\ study - \underline{First}\ Grade$

Time	9.00 – 10.00	10.00 – 11.00	11.00 – 12.00	12.00 – 1.00	1.00 -2.00	2.00 – 3.00
Day	9.00 – 10.00	10.00 – 11.00	11.00 – 12.00	12.00 – 1.00	1.00 -2.00	2.00 – 3.00
Sunday	Classical mechanic		Liner algebra		Foundation	s of up bring
Monday	Practical physics		Practical physics			
Tuesday	Practical physics		Practica	l physics		
Wednesday	magnetic		Classical mechanic geometrical optics		English	language
Thursday	geometri	cal optics	Democracy			



College of Education for pure Science

Department of physics.....

 $\underline{\textbf{Morning}} \ \textbf{study} - \underline{\textbf{Second}} \ \textbf{Grade}$

Time	9.00 – 10.00	10.00 – 11.00	11.00 – 12.00	12.00 – 1.00	1.00 -2.00	2.00 – 3.00
Day	9.00 – 10.00	10.00 – 11.00	11.00 – 12.00	12.00 – 1.00	1.00 -2.00	2.00 – 3.00
Sunday	Practical physics		Practical physics		Practical physics	
Monday	thermodynamic		Computer		computer	
Tuesday	Educational administration		Advance magnetic thermodynamic		thermo	dynamic
Wednesday	Advance magnetic		Healthy physics		Equation	
Thursday	Democracy		Atmospheric physics		Equation	



College of Education for pure Science

Department of physics.....

Morning study –Third Grade

Time	9.00 – 10.00	10.00 – 11.00	11.00 – 12.00	12.00 – 1.00	1.00 -2.00	2.00 2.00
Day	9.00 – 10.00	10.00 – 11.00	11.00 – 12.00	12.00 – 1.00	1.00 -2.00	2.00 – 3.00
Sunday	Practical physics		Practical physics			
Monday	Electronic circles		Group theory		Statistics	
Tuesday	Molecule		Statistics Guidance and mental health		Guidance and	l mental health
Wednesday	Practica	l physics	Practical physics			
Thursday	Molecule	Quantum	Quantum Electronic circles		English	language



College of Education for pure Science

Department of ...physics...

Morning study –Fourth Grade

Time	9.00 – 10.00	10.00 - 11.00	11.00 – 12.00	12.00 – 1.00	1.00 -2.00	2.00 – 3.00
Day	9.00 – 10.00	10.00 – 11.00	11.00 – 12.00	12.00 – 1.00	1.00 -2.00	2.00 – 3.00
Sunday	Electrodynamics		Radiation			
Monday	Laser		Electrodynamics Radiation			
Tuesday	Solid state		Appli	cation		
Wednesday	Practical physics		Practical physics			
Thursday	Solid state	Nano	Nano			



College of Education for pure Science

Department of physics.....

Evening study – **First** Grade

Time	1.00 – 2.00	2.00 – 3.00	3.00 – 4.00	4.00 – 5.00	5.00 -6.00	
Day	1.00 – 2.00	2.00 – 3.00	3.00 – 4.00	4.00 – 5.00	5.00 -0.00	
Sunday	Practical physics		Practical physics			
Monday			Classical mechanic			
Tuesday	geometrical optics		English language			
Wednesday	magnetic		Classical mechanic geometrical optics			
Thursday			Democracy			



College of Education for pure Science

Department of physics.....

Evening study – **Second** Grade

Time	1.00 – 2.00	2.00 – 3.00	3.00 – 4.00	4.00 – 5.00	5.00 - 6.00	
Day	1.00 – 2.00	2.00 – 3.00	3.00 – 4.00	4.00 – 5.00	5.00 – 6.00	
Sunday	Practical physics		Practical physics			
Monday			Atmospheric physics		computer	
Tuesday	Advance magnetic		Educational administration		thermo	dynamic
Wednesday	Advance magnetic		Healthy physics		Equations	
Thursday	thermodynamic		Equations			



College of Education for pure Science

Department of physics.....

Evening study –Third Grade

Time	1.00 – 2.00	2.00 – 3.00	3.00 – 4.00	4.00 – 5.00	5.00 -6.00	
Day	1.00 – 2.00	2.00 – 3.00	3.00 – 4.00	4.00 – 5.00	5.00 -0.00	
Sunday	Practical physics		Practical physics			
Monday	Electronic circles		English language			
Tuesday	Molecule		Stati	Statistics		l mental health
Wednesday	Statistics		Molecule Electronic circles			
Thursday	Quantum		Group theory			



College of Education for pure Science

Department of ...physics...

Evening study –Fourth Grade

Time	1.00 – 2.00	2.00 – 3.00	3.00 – 4.00	4.00 – 5.00	5.00 -6.00	
Day	1.00 – 2.00	2.00 – 3.00	3.00 – 4.00	4.00 – 5.00	5.00 -0.00	
Sunday	Practical physics		Practical physics			
Monday	La	Laser		Electrodynamics Radiation		
Tuesday	Solid	state	Application			
Wednesday			Practical physics			
Thursday	Solid state	Nano	Nano			

